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1. HEZRERE T
(1) K% BRI R
KA AR (BRI R ER) 20 . 000
SR E FrofiREIC L D = .000
KR F FrofiREIC L D = .000
T B E FrofiREIC L D = .000
EVRARALE R i FrofiREIC L D X .000
BT (B Ext 4)
1. T
(1) KT
T v . 000
Wk (A SUE1E ) 0. 108ton, 150km X .000
(2) BUGH/ N
BLG R/ i A X . 000
kg (EHEEHHT~ LK LR) 0. Lton, 3km E20 . 000
Wk (F BB T~ 5 LS KB D) 0.001ton, lkm E20 . 000
BL55 [R]/NA e 2o .000
ke (LWL R ~ & B HS PT) 0. Lton, 3km E20 . 000
kg GE1EKE AT~ & B H BT 0.001ton, lkm E20 . 000
2. #Ef T
(1) K BRI AR i
SR FHRE T = . 000
BRGEE AR IEST - T SR 20 . 000
B T 2 (TR AGIR EET ) SRR G R 000
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KR FHEE T = . 000
BRGEE AR IEST - AT A F 2o . 000
B4 T 2 (Bl (5 7 Fopi ot I~ 000
TR R E T = .000
BRGEE R AwIEST « AT 1 G 2o . 000
BT B (BB EE AT 26) P orr il I~ 000
L PRARAE R A AR B T X . 000
EREEREIEA - LT B FEAKNL E A = . 000
Heffi ey (FEAUE(E Bl #) IRALFHAE, 15 AL PR AR = . 000
3. WMET
(1) 7K A8 2R A 5%
SARFEHIE T = .000
SARFEHIE T X .000
AKIRFHIE T = .000
AKIRFHIE T X .000
T B il T = .000
T BE RS T X .000
EVRARAE R R S T X .000
VRGeS T X .000
sy T
(1) PEBEILIRE
T v . 000
kgt (FEXUEIERBN) 0. 108ton, 8. 3km X .000
FUBEE g X .000
R BEM w)g < ton . 108
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5. fixL

(1) T
R [KIEFRRE - k] v . 000
25T = . 000
(R A T g EARERTREE ) 000
TRBRARRRE - 5 L v . 000
KT Tﬁf{(jﬂ;?ﬁkﬁ%ﬁzﬁﬁrﬁ%&“% . = 000
KRBT = . 000
SEEFE R v . 000
SEEFE R v . 000
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